CLOPAY COACHMAN SERIES: ¢Pnn, HPnn, CGnn, CXnn
HOLMES SETTLERS SERIES: sxnn
IDEAL AFFINITY SERIES: Acnn

NOTE: "nn” REPRESENTS THE ARRANGEMENT OF THE DECORATIVE
OVERLAYS. THE FIRST DIGIT WILL HAVE A VALUE FROM 1 TG 3 AND

REV DATE ECN NUMBER APPROVED DESCRIPTIIN
TFE DOOR EETS OF BICEEDS, TE OES ™| (o |~ 04/07/08 5
ALL LITE OPTIONS AVAILABLE WITH ggc?ai?cm?gsgg?)mpgog L%?gméogtgvevirﬂgm 02] 01/31/12 =1 REVISED WIND SPLED TABLE FOR ASCE7-10.
DSB OR BETIER GLASS3 CONDITONS: 1) ENCLOSED BUILDING, 2) DOOR | {93 08/21/12 SH REVISED FOR TO!
MAX GLAZING SiZE: 40-11/84" x gASIM%OggA&NégTEAgJTO%UIBEINEOS, E'NDAINIZYG%%GF 041 06/05/13 SH ADDED GLAZING DIMENSION.

SLOPE, AND 5) 50% SAFETY FACTOR

THE OFTIONAL GLAZING SHOWN ON THIS DRAWING MEETS THE

"
Y* 1/64" e et e 20 | 120] 150 3" TRACK CONFIGURATION (DOORS. WEIGHING 800 LBS_OR MORE)
............ ; WiNG LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE
THE SECOND DIGIT WILL HAVE A VALUE FROM 1 TO 5. _ — A e TR o o o B¢ = B O R Ne. CODE BUT DOES NOT NEET THE
T ce———rrerrcititntn e n - - T IMPACT HESISTANT REQUIREMENT FOR WINDBORNE DESRIS HORIZONTAL TRACK SUPPCRT BY
MEAN ROQF HEIGHT| 30 30 16 30 REGIONS (REF. CHAPTERi8 FBC/IBC) EE%TER HANG REQUIRED FOR DODR INSTALLER (TC saan-\ﬂ
RS OVER 8' HIGH |
2 SECT GG STOP MOULDING BY DOCR
Q . . I T T O 7 U INSTALLER (TO SUIT)
r: —=4— ot .- $o4 iy 3" GALY. TAPERED SYEEL TRACK AND ANGLE,
© v e = - é 16 GA. MIN. GALV. STEEL END STHLE TRACK THICKNESS: 101", ANGLE THICKNESS: 080"
: ¢ ' T s e e [ ol BePhiats
12 GA. GALV. STEEL TRACK - .
{% ) BRACKET F’AS?EN;D 10 WSO/OD Tl 14 (36, MIN. GALV. (;:% & NUTS FOR EACH TRACK. SLOT TO TRACK JUNCTION
o wily i - R JAMEB WITH ONE 5/16"x1~5/8" " STEEL CENTER HINGE T
u = = = WOOD LAG SCREW PER BRACKET. 7/16° PUSHNUT FASTENED TO BACK OF o DOGR | TN OF .
T " o = INSTALLED ON DOOR W/<4) EACH 8 HEIGHT | SECTIONS
€ o o 2" GALY. STEEL TRACK ROLLER SHAFT FOR #14x5/8" SHEET METAL © T T S {4
Q TWO POINT LOCKING FASTENED TO TRACK BRACKETS. UNRESTRICTED SCREVS. " 12" ON CENTER L %%a:
2 INTO TRACK EACH BRACKET ATTACHED WITH ONE OPERATION. = - iy 1 g
4 o it a e —————ar— 1/4°x5/8" BOLT & NUT OR 14 GA. GALV. STEEL ROLLER HINGE FASTENED TO & 45" i s 24
> = = =) TWO 1/4" RIVETS. END STILES W/(4) FACH #14x5/8" SHEET METAL 4 =y E e
% Y N N &ND SCREWS AND (&) 1/4"x3/4" SELF TAPPING SCREWS. 2 . 160 g‘
STLE 2" 10 BALL SHORT STEM STEEL ROLLER WITH & -E'% R & 3 r
L STEEL OR NYLON TIRE % E%i &o%ﬁ‘#gsm ,:—_%: : 4]
LOCK BAR v =
il = e NOTE: TRACK CONFIGURATION ABOVE SLOT LOCATION. '-1- ; f
L e EACH SIDE THE DOOR OPENING DOES NOT il z o
OF DOGR. AFFECT THE WIND LOAD RATING OF w107 =5 52
MAX. DOOR WIDTH = 16'-0" THIS DOCR. ey 78
INSIDE_ELEVATION et 31 /27 167-0° g4
SNAP LATCH ENGAGES  SMSpEsewD ook o T ST MAX. SECTION
ONTO VERTICAL TRACK. HEIGHT 247
VALENT R : FOR ANY OF THE MODELS LISTED . ONE SNAR LATCH ON : " : '
ON THIS DRAWING, THE FOLLOWING W—LEVEL DOORS USE EQUIVALENT INTER. STILE BACH SIDE OF DOOR. SECT A~A -— 2" THICK BASE DOOR i RATION | THA

SECTIONS (UP TO THE MAXIMUM WIDTH ALLOWED ON THIS DRAWING).
Wa, W5

ANY OF THESE W—LEVELS MAY BE SHOWN ON THE OPTIONAL
1ABEL ON THE END STILE.

: OUTSIDE KEYED
SHIPPING UANDLE ™,

W THE CASE OF GYPSUM WALLBOARD LOCATED AT OR NEAR THE DOOR OPENING
{OCATION THERE ARE TWO ACCEPTABLE ALTERNATIVES: .
1) THE WALLEGARD CAN BE CUT AWAY FROM THE DOOR QPENING AND 2X6 SOUTHERN
* YELLOW PINE WOOD JAMES MOUNTED DIRECTLY TO THE SUPPORTING STRUCTURE TO
CREATE THE MOUNTING SURFACE. ALTERNATIVELY, THE BRACKETS MAY BE ATTACHED P
. DIRECTLY TO THE SUPPORTING STRUCTURE. SEf DETAIL BELOW. THE CENTER OF
SCREW HOLE MUST BE AT LEAST % FROM BOTH EDGES FOR A 5/16" 1AG SCREW.
23IF THE WALLBOARD IS NOT CUT AWAY TG EXPOSE THE UNDERLYING STRUCTURE (WOOD
FRAMING MEMBERS), A 2X6 SOUTHERN YELLOW PINE WOOD BUCK QVER SHALL BE
INSTALLED THE WALLBOARD FROMING THE OPENING USING THE JAMB ATTACHMENT
FASTENERS LISTED SELOW. HOWEVER, THE JAMB ATTACHMENT FASTENERS MUST 8E OF
A SUFFIGIENT INCREASED LENGYH TO ACCOUNT FOR THE THICKNESS OF THE
WALLBOARD TO ENSURE PROPER FASTENER EMBEDMENT INTG THE STRUCTURAL
FRAMING MEMBERS OF THE SUPPQRTING STRUCTURE.

m—j l-—l/&' FROM EDGE

A
L :
:

R TN

KQTE: THE DESIGN OF THE
SUPPORTING STRUCTURAL
ELEMENTS SHALL BE THE
RESPONSIBILITY OF THE
PROFESSIONAL OF RECORD FOR
THE BUILDING OR STRUCTURE AND
N ACCORDANCE WITH CURRENY
BUILDING CODES FOR THE LOADS
LISTED ON THIS DRAWING.

-\ 3

TH

v W FRA 1LD! :
3/8"x3" LAG SCREWS ON 19" CENTERS. 1-1/8" 0.0, WASHER REQUIRED. LAG SCREWS

MAY BE COUNTERSUNK (BUT NOT REQUIRED) YO PROVIDE A FLUSH MOUNTING SURFACE.
HORIZONTAL JAMBS DO NOT TRANSFER LGAD.

VERT] M M | M. R

ERTICAL JAMB ATIACHMENT (C--90 BLOCK OR 2.000 PJ N.. CONCRETE COLUMN):
3/8"<3" SLEEVE ANCHOR BGLTS ON 17" CENTERS {2,000 £35| MIN. CONCRETE).
WASHERS INCLUDED WITH SLEEVE ANCHORS.

OR

1/4"x3" TAPCON SCREWS ON 14" CENTERS {2,000 PSt MIN. CONGRETE} OR 17"
CENTERS (C~80 BLOCK), 1" O.D. WASHERS REQUIRED WITH TAPCONS.

ANCHORS MAY BE CCUNTERSUNK (BUT NOT REQUIRED) TO PROVIDE A FLUSH MGUNTING
SURFACE. HORIZONTAL JAMBS DO NOT TRANSFER LOAD.

QTHER JAMB CONFIGURATIONS: REFER TO DASMA TDS-161. A LICENSED DESIGN
PROFESSIONAL MAY ALSO SE EMPLOYED TO APPROVE ALTERNATE FASTENERS AND/OR
JAMB COMFIGURATIONS.

(4) #14x5/8" SHEET
METAL SCREWS

14 GA. END HINGE 1

' . 5-5/8" END STILE THICKNESS
PVC OVERLAYS ADHERED

TO QUTSIDE SKIN WITH

POLYURETHANE ADHESIVE. 12 GA. GALY. STt

END TOP ROLLER
STILE y - BRACKET. EACH
27 GA. STEEL. MIN. BRACKET ATTACHED
INSIDE HANDLE INTERIOR & WITH (4) #14x5/8"
EXTERIOR SKIN SHEET METAL
QUTSIDE, KEYED LOCK WITH G-40 SCREWS
i TON g SUDE 80LT GALVANSZING, :
STILE U6CK EnGages — DAKED—ON PRIMER

INTO VERTICAL AND A BAKED—ON

TRACK. ONE POLYESTER PAINTED

LOCK ON TOP COAT, /
EACH SIDE /
OF DOOR. .

14 GA. GALV.
STEEL ROLLER
HINGE. SEE

SECTION C-C

ONE POUND DENSITY
EXPANDED POLYSTYRENE -
FOAM INSULATION |12
LAMINATED TO BOTH |27
EXTERIOR AND INTERIOR
SKINS

TONGUE AND GROQVE JOINTS.

iNSIDE_SLIDE 8OLT
LOCK_QPTION

3% 20 GA. GALV. STEEL
U-BAR. TWO U-BARS
PER DOGR SECTION.
ATTACHED WITH (2)
1/4"x3/4" SELF TAPPING
SCREW AT EACH HINGE
LOCATION.

13 GA. GALY. STEEL BOTTOM
BRACKET. ATTACHED WITH (2)
#14x5/8" SHEET METAL
SCREWS.

(4) 1/4"x3/4" SELF
TAPPING SCREWS

4 GA. INTERMEDIATE HING

tHR TOP BRACKET
DOUBLE HORIZONTAL
TRACK

ORIGIAL DRAWINGS ADY SIGHED @ S8UE
NI WITH A RAED SEAL (EMBOSS).

INTERIOR SKIN WITH G—40
GALV., BAKED--ON PRIMER
AND A BAKED-ON

\g 27 GA. STEEL MIN.

= DOOR HEIGHT

OPENING HEIGHT

HORIZONTAL TRACK SUPPORT BY
DOOR INSTALLER {TO SUIT)

13 GA. GALV. STEEL FLAG BRACKET.
FACH FASTENED TQ WOOD JAMB WITH

(3) 5/16"x1-1/2" WOOD LAG SCREW.

.NOTE: DOQUBLE TRACK
LOW HEADROOM IS5
AVAILABLE AS AN OPTION

2" GALV, STEEL TRACK,
TRACK THICKNESS: .060"

|~ Tvp. 2-1/2"x12 GA. GALV. STEEL TRACK BRACKET.
MIN. (4) TRACK BRACKETS PER SIDE. DISTANCE BETWEEN
TRACK BRACKETS NOT TQ EXCEED 30" O.C.

DESIGN ENGINEER: MARK WESTERFIELD, P.E,
FLORIDA P.E. #48495,
NG P.E #23832,

TEXAS P.E. #91513

@ POLYESTER TOP COAT. DESIGN LOADS: +30.0 P.S.F. & —30.0 PSF.
DOURLE TRACK : TEST LOADS: +45.0 PSF. & —45.0 P.SF.
ou Bba Sty U s e
MANUF ACTURING PRODUCT CODE WINDLUAD RATING MAX, SIZE:

&> CLOPAY BUILDING PRODUCTS COMPANY|MEC: DSIEO—TM479 160" x 16°0"
S 8585 DUKE BOULEVARD PR 4 /06/06 DESCRIPTIEN:

o gs ‘ CINCINNATI, OH 45040 DRAWN BY: MODEL COACHMAN +30/—30 PSF DESIGN
Building Products| (513) 770-4800 i BrA SRAVING NGHBER:
CompG ny Clopay Carporation All Rights Reserved. B 103710






